IH

BLTTISRASE GBI A

i Mﬁ%ﬂﬂ%%ﬁ?@.ﬁ%j : A 1 '®m

i

Sl

Hl]H?éﬁﬁﬂ%wﬁ%ﬁﬁFT%ﬁELMﬁﬂ’ﬂ %#%Hﬁ ik s 4 B )
LARY AR, o ﬂﬁﬁﬁ%ﬁ%ﬁﬁ%ﬁ’%meﬁkﬂ .

BRI - BT

= AW +exyY, (1)} ‘ S e L= kY - hed (9
=V -IA+IR (2 | At =L (10}

B rd=Th+ 4V L) A EEAE ‘|‘P- .

— o AMs=L, (11)
| TR=TR-q*Y (4) W T
T=1—b*i (5)
G=0G-0n; - (6)
AD=C+I+G ')
AD=Y" (8)

B BRI O At [ AN GBS W AME » AD
BEFE » ¥, BEAT SRAE  TA BIAE + TR WA & ) 7 AMASE D~ A

oMo~ b0 ‘t‘g\).""#!,ili{ﬁé’]?‘»;i ,rf;c TA~?1€ I G RAEEH
kA AT St A &‘ﬁ"‘?‘*r%&&ﬁ’ LA&W‘ :t Ms ia‘i"i’f‘;?’ﬁ"#h t?ﬁ P)’a#h
BRF M BHE H‘;’I"’}!‘#L*Hﬁ kF~h~m ﬁLAiHﬁﬁ‘Jé‘-!fco -

SHET AL 1S i < LM gk 5 00A B AR AR

— ’ L o A

. A 1 _

S S (IS (12
TS _(6+b)*,rz,y _ (Ibﬂh * o 12
. > . . . . SN LR
JENP YL LT DA 13
T m P +b+{hy, (M) (1)

~ (o+d)r M
=y A |
STV Y P
7 4 - 1 ﬁ .'}'f; o
fa = i m (f:+m)+k(9+b)qx P

. i -1 . e . e e
where =2, *[l+k*cx *(Gf%*_m)] __ ZEC I+ G /‘L*W+C(I’R— A)-'*
74 m[1—5(1 - q)}
%ﬁﬂ%ﬁi@ﬁTﬂﬁm° W.__ S
Ca ) sAPRTB0AE R © 8 ISLM BHAS S E i o LML TH
“f]‘:?rf}zﬁﬁ.}ﬁiﬁ;&‘ @ (6% .
(b )uﬁﬁﬁfﬁﬁﬁmﬁﬁi&ﬂ%ﬁ%ﬁfﬂ%%ﬁiﬁ&%ﬁﬁ > it I R 4R,
T e (C6%) L R L I AL N SRR APHIE A
(c)mﬁ?hﬁﬁﬁﬁiﬁﬂﬁ%%ﬁ% TR=TR s 5§ it 3 AT K AR 2K
Eao (4) XALOWRIENAE N E R M ( built-in stabilizer ) a9 5 38
A ARG EHLIA A EEMIEM Ao (6%) oo
(d) %$&$ﬁiﬁ%taﬂ.ﬂmﬂﬁ&ﬁﬁ&ﬁmﬁ%@%%ﬁT%ﬂM%ﬁ'
B ﬁmﬂﬁk=(8%)"' e

 Errrna e




VRS A B I A AR

}JU}J Ak AR SR A \35 Tfﬂ CBHA: o IR AT 2" B2 H

{e) {RHLIE 8 & F 44543 3 Simon Kuznets #3535 &g T X » R X85 BEH 9 R
GrpLE R ey I BN B A R o iRl (1) S Jow  MAGH R £
L0 E RIS E o M R (1) KA S A AR RN M G oA
AR BE N S A2 Ay My o ( 6%)

(f)$mﬁ+wﬁﬂﬁﬂﬁﬁhﬁ?R%%%Mﬁmﬂ#%ﬁﬂﬁMTvﬁﬁﬁﬁm
A FhSr SR AT 7 BT RO AGE RSBV (6%)

(g ) BT AAEI S AT A A B KR > el 2 A A LS8 R o 15 R-dodor I 5 A B
U s 40 -k 2 &+ 36 36 T JH 4R 13 ST B Al o o 15 00 BT W T 5 P R AR A0 # BT AR B )
&Y iR Poaymdt? (112%)

[#2]

o LR AT AT TR IR - ﬁﬁ%ﬁ%mmﬂﬁﬁ%w - JHANARSR SR
KA RIS AR 2 AT R AR AR SR EERERIE - - BT HS
BT EE T IR IR 7 IR AMT R RAT LG LR 7 Cornell and Roll [ o8 120 E
B ETRN R AR SRR A MR R TTRIRLARY « RIERIFLL
“FRAUACHEES - | | - |
IERETRRETS © (1) RS ¢ (o, DUNERIRIGET 2R - (2) M
HETRREERE ¢ &0t MFMBIERRE - ERNHEMER (q<r<e) "
BT RS IR ST R S J BRPTIE - AREIEN
RS dr » TRRE R AR R R B dr — ¢, - B2 HRaMERI & H AT
H3r PN MRS r/d o PR r/d - o BEAMLARMTE
BEHI SRR o DA LUT R

(a) Wm)ﬁﬁTimmmﬁﬁkﬁﬁﬁwﬁﬁM$

T

% o SRR B A
5 ROV I 7|
% |EEsRE 2 ?

() (10%) $ p FEIRMAANTIRRSHIHEE - 1-p BIRFI RS RS R - 5
T B S s R A T A R 2 5 » il MR B R TR SRR S
IR AR PRI - SRR p RS D 7 HRE R 7

(© (6%) fZr=8% ¢ =4% «c,=8%" R R ER - S
IS |2 AT Bt A TR DA - SRRTLLES d B2 p SBIRAT ?

d) (a%) FHRIAERZIYEHRERE -

Ji

[#3} : th\\\\\rﬁilb ~.

Consider the Cournot duopoly with market demand given by P = ~(3+a, where

cost function for the two firms are C'(g,) = bg, +¢ fori=12.

() (10%) Find the output ¢ = (q’,ay)and price P" in the Cournot equilibrium

(by (10%) Now suppose that both firms pa]lute 4 common water soufce, This
means that an increase in the output of either firm will raise the production cost

of the other firm.  Thus the cost functions of the two firms are
C'(q,.q9,)=bq, +dg, +c fori,j=12,i#j, b>0 d>0

~ TFind the Cournot equilibrium for these two potluting duapolists.
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